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lim f(x) w(2x2—3x)e = lim x(2x 3) +00

o f'(x)=(4x—3) (zxrw—sx)
f'(x) (4x 3+2x° —3x)e
f'( (2x +x— 3)e

2x" +x-3 1 x)
. A=25 . A=(1)-4(-3)(2)
-1+5 -1-5 -3
X, = =1 , x, = —
4 4 2
-3
X —Q0 7 1 +00
f'(x) 0 - 0§
3
[15-0] }"0"5} f



—o0 y=0
2
tim L) _ fin (Zx _3x]ex = lim (2x-3)e" = +w
X—>+0w X X—>+00 X X—>+®©
+00 (c)
() -3

( ) (4x+1)ex+(2x2+x—3)ex
"( )=( x+1+2x2+x—3)ex
f( ) (2x +5x — 2)

A=41 , 2x*+5x-2=0  f"(x)
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b a -1 (II
g(x)=(4x+a)ex+(2x2+ax+b)ex
g(x)=

(4x+a+2x2 +ax+b)ex
g(x)=(2x2 +(a+4)x+a+b)ex

[2x2+(a+4)x+a+b]=0: g'(x)=0
A=a’+8a+16—4a—4b: A=(a+4) —4(a+b)
A=a*+4a—4b+16 :
g'(x) A>0
a'+4a—-4b+16>0



